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OVERVIEW The cards are designed to place students in groups of

four. Students are each given a card and asked to solve

Common Core Collaborative Cards support the teaching  the problem on it. They then look for three other stu-
and learning of mathematics in several ways. They can  dents who have the same solution. Once they have

be used: located their group, the students must be ready to
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« For students’ independent practice KK
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The Common Core Collaborative Cards series consists of 55
three decks of cards per box, each focusing on the same
domain in the Common Core State Standards (CCSS). )
Each deck provides problems representing the standards amn C
articulated in the CCSS for a particular grade level. o
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Mary Mesure made a table converting centimeters to millimeters. ABand BCare perpendicular.

Teachers using these decks have commented that they ‘How many millimeters are the same as cne centimeter? How many degrees does the angle with the 2" mark measure?

o

o

R

have been able to observe what their students under-
stand as well as identify their misconceptions. Teachers

All four cards in this set have the same answer, 10, so
students who receive one of these cards form a group.

have also noted that their students began to rely on each
other more instead of seeking out the teacher to answer
their questions.
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GROUP MEMBER ROLES

The cards offer a second feature: the reverse side of each
card indicates the role the student holding the card is to
perform in the group. After the students are presented
with the task for that day’s lesson, each member of the
group takes on the role designated. These roles are as
follows:

« Discussion Director

* Resource Manager

» Recorder

» Team Captain
Teachers can easily identify the roles that students are
expected to perform since students place their cards on

their desk with the side indicating the role facing up.
The roles are explained as follows:

If you are the Discussion Director, your jobisto ...

» Make sure that everyone has read the problem and
understands what the question is asking. You can
ask, “What do we know?” “What do we want to find
out?” and “Can we make a prediction?”

« Invite everyone in the group to participate. You can

use statements such as, “What is your idea?” and
“What are you thinking?”

RRRRILIRRRS
Lot tode
28 0:0:0’0’0‘0’0‘0‘0‘:‘0 25

If you are the Resource Manager, your job is to ...

 Ask the teacher a question if all of the members of
the group have the same question.

 Get any supplies needed by the group.
« Keep track of time.

The Resource Manager’s role goes beyond taking care of
the supplies. The Resource Manager is the only member
of the group who may ask the teacher a question. Before
asking a question, every member of the group must have
the same question, and the teacher can then direct the
answer to the whole group. This helps the members of
the group become more interdependent, since group
members can answer many of their questions themselves
rather than relying on the teacher.

If you are the Recorder, your jobis to ...

e Keep track of the thinking of the group. Be
ready to answer how the group approached the
problem. What strategy did the group use to solve
the problem?

 Record the work of the group. Be organized and clear.

» Ask,“Is there anything else we need to include?”
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These practices focus on the specific actions taken by
students who are mathematically proficient.

The eight mathematical practices are:

< 1. Make sense of problems and persevere in
solving them.
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Reason abstractly and quantitatively.
Construct viable arguments and critique the
reasoning of others.

.

Model with mathematics.

Use appropriate tools strategically.

o v A

Attend to precision.
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Look for and make use of structure.
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8. Look for and express regularity in repeated reasoning.
(Common Core State Standards for Mathematics, 2010, pp. 6-8)
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The authors of the Common Core carefully chose to begin
the mathematical practices with problem solving. “Prob-
lem solving is not only a goal of learning mathematics
but also a major means of doing so” (NCTM, 2000, p. 52).
Students who are engaged in solving meaningful tasks
are in the process of building their understanding. They

oo %
3K
XX
P0e:
%3

X

Z
O
e %
X
o%%
2

o4
%,
%
S
35
R R RRRAIRRKRS
BB

&%

XL
%

o

KR

are making connections, constructing arguments, ana-
&5 lyzing approaches, looking for patterns, and reflecting on
their thinking. These students are learning mathematics,
and they have opportunities to exhibit the eight math-

ematical practices.
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The Collaborative Cards provide students with opportu-
nities to develop proficiency in the eight mathematical
practices. Students solve problems, discuss strategies,
and reason mathematically (Mathematical Practices
1-3). They work with patterns and apply them in various
contexts (Mathematical Practices 7-8). They determine
whether to calculate problems mentally or use paper
and pencil (Mathematical Practice 5). By attending to the
use of appropriate vocabulary and the accuracy of their
responses, they are attending to precision (Mathematical
Practice 6). They use equations to model problem situa-
tions (Mathematical Practice 4).

The Collaborative Cards provide teachers with insights
into what individual students truly understand. As they
apply their knowledge in new contexts, students use
what they know. As one fifth-grade teacher in Grafton,
Massachusetts stated, ‘I gained insights into my students’
misconceptions. These cards are an easy way to learn
about students’ strengths”
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20 Favorite Pets
— Key: Unit = 5 students
SRR
KK 1 1 i
R .
:0.0.0.0.0. Harriet woke up at 7:30 Am. She dressed and had | Alijah has three jobs to do in one hou! Marsha placed a rock in a large bucket of * How many students prefer cats?
$RINRHS This took her 35 minutes. She needs to be at the by He wants to spend the same amount of time or How many liters did the water rise
:0:0:0:0:0: How many minutes does she have to get to the How many minutes will Alijah have to complete when she placed her rock in the bucke
$RINRHS
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ANSWER 5 " 2 7:20 7:30
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Some students measured the length of their poir
They recorded their results in a line pl
How many students have fingers that measured

Mary has 36 inches of string.
She wants to make 4 equal pieces with this
How many inches long will each piece of str:

Francine is designing a rug for her dollh¢
How many square units will her rug cov

Val started to read her book at 7:20. She stopped reading at 7:29.
How many minutes did Val read?

6 — — —
: o\ O
S
A: Katieis correct.
ANSWER ZERERESES A: He added all of the sides. B: Ina 5 x4 rectangle, the area is 20 square units. A: 8glasses
ere units B: He added 3 to 6 and then doubled that amount. and the perimeter s I B: 12 glasses . )
3 8 5 Py . 2 liters 2 liters
ping square units to fit in the rectengle. C: He multiplied the length of the two given sides. C: In 4% 4 square, the ares and perimeter are the same. C: 24 glasses
e 2 mistake. D: He guessed the area was less than 20 D: In2 3% 3 square, the area and perimeter are the same. D: 16 glasses

Peter placed square units in this rectangle to mea;
His friend told him he made a mistaki
‘What could Peter do to fix his mistake
(Your partners have the same letter answer as

Caleb said the area of this rectangle is 18 s
How did he find the area?

(Your partners have the same letter answer as

Katie thought that a rectangle could not have an are:
with the same number of units. Which answel

(Your partners have the same letter answer as

Kingsley bought 6 liters of lemonade for her party.
If each liter fills 4 glasses, how many glasses of lemonade
will Kingsley have for her party?
(Your partners have the same letter answer as you do.)
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KR A 5x2+3x2 A 10 grams A 2x6+2%6
2R B: 5x2+3x1 B: 1gram B: 3x6+3x6
:%0%6%%% 3

0RKR Ci5x5 C: 20 grams Cax2+4x4
120 %% D:1x3+3x5 D: 15 grams. D:3x6+1x6

| | |

A: 10 feet by 2 feet

ANSWER
B: 6 fect by 6 feet

C: 7feet by 5 feet B
D: 8 feet by 4 feet

woz

¥

Arnie says he can find the area of this shape by tk
2 rectangles. How did Arnie find the ar¢

(Your partners have the same letter answer as

How much do you think this paper clip weighs? Selecl

(Your partners have the same letter answer as

Alex said, T can think about this rectangle in sn.
That will help me find the area” How did Alex not

(Your partners have the same letter answer a

Jayla is building a fence around the yard for her puppy.
She has 24 feet of fencing. Which size yard
will give her puppy the biggest area to play in?
(Your partners have the same letter answer as you do.)

OO e oo 0t ete e %o 2 te % tete b tetetetetels

X
X
XX
R RRRRRERRRRRERRREEEEEEEEBEBEIER

%
2
255

2 22020202
ANSWER

8 =10 apples G =5 apples -
1 1 1

How many more apples were picked in February tt Marcella began reading her story at 7:33. She stoppec Brian lets his rabbits roam freely on his 1
when her younger brother came to say good night. M The lawn measures 3 yards by 5 yards
from 7:43 to 7:51. How many minutes did Marcella r. How many square yards of lawn do the rabbits

‘With your team, explain why this problem refers to

<}

XX

%
0
3%

%

K
K

9%

How many square units is the total area of this shape?
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Key: X = 1 book

| | |

Jeremy piled up some of the books shown in this g: Jill drew a rectangle. It has an area of 20 squa

all the books that were ¥4 inch thick, 1 inch thick, an One side is 4 inches long. What is the length of th:
How tall was Jeremy’s stack of books?:

0;0;0;0‘0'

Find the width of this rectangle. Pedro made a rectangle. It has a perimeter of 12 inches.
If Pedro’s rectangle has a width of 1 inch, what is its length?
Be ready to explain to your team how you founc

Be ready to share your thinking with your Be ready to share your thinking with your team.
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

. . 32t
8in. 4in.
! 10 ft ———————
6i L J
9:00 1
72 20 ft
00 eee
8%
KK 1 1 i
SRR P : . .
:0.0.0.0.0. Two rectangles were pushed together to make a lax Maria wants to place a border around her flow: On Saturday, Caleb left his house at 9:10 and went A rectangle has side lengths of 2 and 36. Harry wanted to find its area.
$RINRHS How many square inches is the area of the new How many feet will the length of her borde He left the library at 9:45 and went to get ice cream. Multiplying 2 by 36 was hard for him. He decided to use 4 by 18
XRRHXR Share with your team how you found the Caleb walked home, which took him 22 minutes. W' instead. What is the area of this rectangle?
0:0:0:0:0:0 number of minutes that Caleb was away from }
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Key: X = 2 pipe cleaners
1 1 1

The perimeter of this square is 40 inch
How many inches is the length of a sid

Rose put a rock in the beaker. How many milliliters di

Peter’s group measured the lengths of pipe ¢

How many pipe cleaners measured 3% o

(Why is the key important when working witk
Discuss with your team.)

Renee wanted to take $109 from her bank account.
The bank did not have any $100 bills.
The bank gave Renee some $10 bills and nine $1 dollar bills instead.
How many $10 bills did the bank give to Renee?

ANSWER
12

8 8+ 9 9+ 10 10+ 11 1%
Key: X =1 plant

|
Destiny wants to put ribbon around her holic
She has 60 inches of ribbon. Each gift uses 5 inch
How many gifts can she put ribbon on

|

The third-graders planted lima beans in scier
The graph shows how many inches the plant
How many plants grew 11 or more inch

|
Sarah is confused. The two rectangles look d
but their area is the same. How many square units is
(Why do these two rectangles have the sami
Explain to your team.)

Malik says you can count the number of square units
in the rectangle to find the area. What is the area in square units?
(Is there another way to find the area of this rectangle?
Discuss with your team.)
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

CENTIMETERS | MILLIMETERS

I know that 1 foot equals 12 inches, so...

2 300 3 ?
3 ? 40
4 ? 5 ? A R
5 6 ?

60

Complete the chart on a separate piece of

(Your partners have the same value as the last ent;

L [ L [ [
) ) L ) )
[}

Marcella spent Y3 of her money on a birthday gift
The gift cost $10. How many dollars did she h:
she bought the gift? Use this number line to

X
X
X X X
X X X X
X X X X X
o+ F o+ 0+ 3

Yards of Ribbon Collected

The fourth-grade class made this line plot to find out
of ribbon they collected. How many yards of ribbon

RKK
2XXRR

Mia constructed this right angle.
She then placed a ray so that one of the angles form
How many degrees is the measure of the secol
Be ready to share your thinking with your.

150°

Al measured the larger angle with his prot

He realized that he did not need to measure the
How many degrees is the smaller angle

Be ready to explain your thinking to your

Mattie made a table to show the relationship between
and meters (m). Fill in the chart on a separate sh:

(Your partners have the same value as the last ent;

XXX
X
XX
30X
RRK
XAX
RHXHRRHRS XXXRXS
12050 % % % % o bebe%

Willa says, “For every centimeter, there are 10
Use Willas clue to complete this chart. (Use a separatt

(Your partners have the same value as the last ent;

Harry
Luke

Harry has three times as much money as
If Luke has $10, how many dollars does Har:

Use this bar diagram to help you.

21 ft

105 sq ft

Alicia’s puppy pen measures 21 feet long ai
an area of 105 square feet. How many feet is the

Explain your thinking to your team.

XX
XX

RKK
XXX

The area of the pen for Peter’s rabbits measures 600 square yards.

The width of the pen is 10 yards.
What is the length of the pen in yards?
Be ready to share your thinking with your group.

7:30 A

Janella got up at 7:41 AM. She was ready for school at 8:11 Am.

How many minutes did it take her to get ready this morning?

Key: W = width

Pierre knows that the perimeter of his yard is 24 feet. He also knows

that the length of the yard is two feet more than the width.
How many feet is the width of the yard?
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

A: 20 ounces A: 80

ANSWER
B: 30 ounces B: 800

C 3 C: 24 ounces C: 8,000
D: 22 ounces D: 4,000

4
o
A
o

2
QXX HHKRKIKIRX>

%o

Q
XX RKKRXD

Henri says this angle measures 120°. Loretta thinks he
Choose the answer that best describes the si

Roberta says, “Sixteen ounces equal one pc
She has 1Y% pounds of candy. How many ounc

The students know that 1,000 grams equal 1 kilogram. They found that
4 textbooks weighed 8 kilograms altogether. How many grams is that?
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(Your partners have the same letter answer a: (Your partners have the same letter answer a: (Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)
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ANSWER ERERS
be called ZCBA.
[D Y measure s ZABC.
be called ZBAC.

A: The width of the rectangle s 70 ft. A: 10 feet =120 inches
B: The perimeter of the rectangle s 300 ft. B: 7feet = 84 inches.
C: Area = length * width C: 35 feet = 42 inches.
D: Perimeter = length + width D: 2 feet = 30 inches

e T Yo T

e
CHXXRKS

CRXHXRHRK

CHXXRXS . . S p

b ‘Which statement is not correct? Harry left home at 7:30. He rode his bike 25 minute:
house. The two friends rode 15 minutes to school.
minutes later. What time did the bell ri

(Your partners have the same letter answer a:

Select the statement that is not true. Sandra made a table converting feet to inches.

Which conversion did she get wrong?

(Your partners have the same letter answer a: (Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)

CRXHRS
CRXHHRKS
XRXXXX

ANSWER
70

—
QRKHKK
LK

Katrina said, “Look, I made my initial!’
She knows that angle ABC measures 80° and ~DBE is.
If 2DBA measures 30°, how many degrees is,

This sprinkler rotates 1 degree every mir
How many degrees does the sprinkler ro
in one hour and 10 minutes?

Angelina measured the length of her pe:
She said that it was 7 centimeters.
Then she measured the same pencil using mi.

How many square feet of carpet will be needed
to cover the floor of this room?

How many millimeters is it?

QRIRRIKALIKKKKEES
2R IRRREERRS
2R R
RS SRR

QIORRARRKKKRKL SOR0KAKKAKS % OO oe e esa et toseesetototedetetotetetededode!
Q0RIRARRIIKARLKEAEALIKAKIEIR & R QORRIKRKEIARAS
QORRIARRKARKNK, R I SRR QORRLKKKEES
QI0RIRIRIKKKK 2K & SRS SRRRKKKKE
QI0RIARRKKRKLK, DeSeesess: I 3 QORRIKAKEEE
QORIRIIARRKKK 2R 2%
SRRIRRHRIANRIANRIAILRARK XXX IK SRRANRNS QRIS
2RIRIRIRIRIRARARARS JRRIRIRN



0 IRLIIKIKIKIIIIEKKL QAR IRRIIIRIRINRIKRIKLKKK,
QR IIIRIRIIRIIRIRS 2RI R KR KRKKLALIKAKKIIAIAKNE,
QRIS 2RI RRLKLIAKIKAIAII,
QRIS IR KRR,
QRIS 2 R KR IK IR KKKKIKKKKL
R R R R R R R RRRRIRXRK. R R R R R R R R R R
R RIRRIRRRIRRRRRK LRI SRR R R R R R R R RIRRIRRIRRARKRRKKS

| | |

194%%%
0.0.9.9,
0%%ﬁ§
%

O
i% does
QLKL
LRKRKK
QKKK
3L

126

0%
%+%% %o
20 %0%% ‘:

$90000.0.0.0.0,0.0.0.0.0.0.0.
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Thickness of Books in Inches C 10

The students measured the thickness of the books tk Sally measured the angle shown here. She want Mary Mesure made a table converting centimeters AB and BCare perpendicular.
classroom. The line plot above displays their results the angle into 6 smaller angles that are equa How many millimeters are the same as one ce; How many degrees does the angle with the “?” mark measure?

stacked the books, how many inches high would t How many degrees will each of the smaller angle
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1 1 1
Harry started riding at 7:35 a.m. This angle is formed by two perpendicular; Ignacio discovered that the area of his rectangu Crispin poured 360 mL of liquid into 8 beakers. If each beaker had the
He stopped for breakfast for 10 minute How many degrees does one half of this angle back yard is 450 square feet. The width of the ya same amount of liquid, how many millimeters were in each beaker?
He finished his ride at 8:30 a.m. How many feet long is Ignacio’s yard?
How many minutes was Harry riding his |
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1 1 1
Roosevelt's square play yard has an area of 36 s. Sapphire cut a circle into equal parts Maida has 5 quarters, 20 dimes, 40 nick Grandpa wants to give each of his grandchildren the same amount
How many feet long is each side of the y: She measured each angle at the center of he 1 half-dollar, and 25 pennies in her piggy of money. He has $630, and he will give each grandchild $105.

Each angle measured 60°. How much money does Maida have in her How many grandchildren does Grandpa have?
How many parts did Sapphire cut her circle (State the amount in dollars.)
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Abbi spent /s of her money for lunch. She spent % o Bob packed cubes in a box that he was sending t Peter Pascal said that he could change 0.06 to 6 by usi.

had left on a movie ticket for $12 and refreshments fc The area of the base of the box measured 5 inche: If Peter plans to multiply, what value

dollars did Abbi have in her purse at the beginni The height of the box was 10 inches.. ‘would he multiply 0.06 by to obtain 6
How many cubes the size of one cubic inch could fi
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10 Fractional Part of One Dollar

— Volume (V) = length * width * height
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'Val knows that a box holds 100 unit cubes. The bz Rogelio knows that the volume of his box is 5. Students at Mathville School were collecting money to
measures 5 units by 2 units. How many layers of The height of his box is 25 cm and the length of thy ‘This line plot shows the fractional amount of one d

will there be if she fills the box to the tc How many centimeters wide is the basi student contributed. What is the total amount of d
students contributed to the charity?
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The number of pennies in a dollar is the same as
the number of centimeters in a meter.

What is this number?

If a beaker will hold 1 liter of liquid, how many milliliters will it hold?

Clarissa is making a small box to put in her dollhouse.

The height of the box is 1 cm, the width is 2 cm, and the length is 5 cm.

What is the volume of Clarissa’s box in cubic centimeters?

ot

23R

SRANRANRARK
%

IR
000 O
00,00
0. 0.0. 0.0

ot atetetotetetetetete!
RILRIKKRKBK
00050 %0%6%6%%% % % %%

Q2

%
%

2K




0 IRLIIKIKIKIIIIEKKL 230N
QR IIIRIRIIRIIRIRS 2RI R KR KRKKLALIKAKKIIAIAKNE,
QRIS RIS
QRIS IR KRR,
QRIS 2SRRI AN,
R R R RIS R R R R R R R R R R
R RIRRIRRRIRRRRRK LRI SRR R R R R R R R RIRRIRRIRRARKRRKKS

1909.9.%%

0.0.0.0.0.0.
0.0.0.0.0.0.
0.00:0‘0‘

ANSWER
168

|

The dimensions of Box A are 3 cm x 3 cm »

The dimensions of Box B are 2 cm x 6 cm x
‘What is the total volume of this shape in cubic ¢
Be ready to explain your thinking to your

Juan has 168,000 centimeters of rope. How many n;

How many unit cubes will fit in this ba

Maria spent ¥4 of her money buying a gift for her mother.

She put half of the total amount of money in her savings account.
The remaining amount of money is the same as the cost of the gift she
purchased: $42. How many dollars did Maria begin with?
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Mattie made a table for converting between meters a
Fill in the missing values on a separate sheet

(Your partners have the same value as the last entr

Clara is confused. “These two prisms look so ¢

Can their volumes be the same?” If both prisms have {
your team has the same number as the volume. If yo
volumes are different, your team has the answ

|

Sally filled this box with sugar cubes. She packed 1:
altogether and she packed 5 complete lay

How many sugar cubes must be in each l¢

‘What value goes in the box?
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A: Twice 35 big 3s the volume of cube A At fim35em — |

B: 8 times as big as the volume of cube A. 2 2 B 10m35cm |
C: 4 times as big as the volume of cube A. C: 9m85cm

D: One-half the volume of cube B. D: 9m95cm

X
.
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Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

A: Pedro: 84.62 seconds
B: Miguel: 81.64 seconds
C: Mitch: 839 seconds

D: Alfred: 83.46 seconds

Robin's rope measures 2 feet 6 inches. Her brother’s The girls are practicing the long jump. Maggie jumj
longer than Robin's. Robin's sister’s rope is %2 as long Beatrice jumped 2% m, and Lolly jumped 4 n
placed their ropes end to end, how long would the rop What is the total distance the girls jumped in th.

(Your partners have the same letter answer as (Your partners have the same letter answer as

The volume of cube Bis. ..

(Your partners have the same letter answer as

Four boys ran a 500 m relay race.
Their times are shown here. Who won the race?

(Your partners have the same letter answer as you do.)
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Harley has 5 liters of a chemical solution that he has How many cubic centimeters will fit in this Find the total volume of the two rectangular prism.
experiment, Harley wants to divide the solution am¢

How much must each beaker hold? Express your ansy

Peter’s family was moving.
The volume of one of the packing crates was 40,000,000 cubic cm.
Peter determined that the width of the crate was 200 cm and the
length was 400 cm. How many centimeters high was this crate?

100 cm 1m

10,000 s cm Teqm
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Total Reading Time in On €: 1,000,000 c 27

D: 10 %10 %10 30

‘What was the total amount of time the class spent rez Look at the pattern in the table How many boxes measuring 3 cm x 4 cm x
and then select the correct answer for the miss can fit inside a box that measures 9 cm x 12 cr
(Your partners have the same letter answer as

(Your partners have the same letter answer as (Your partners have the same letter answer as

If there are 4 quarts in each gallon and there are 2 pints in each quart,
how many pints are in 4 gallons?

(Your partners have the same letter answer as you do.)
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